TRAKSTAR iSBE

E R F

User Manual

ESC-80A
BiRAEEREHE

Active Column Speaker



ESC-80A simmiigmeEst

COMEEIE++eevverreereeeseemt seneee e et st e e e e e tee tat e et e e teeat e s ee e te e s sn e e ae e aeen e e e e
T L
o O PP
T

SPCHFICALIONS -+ +er e e vee e e e e
a1 R = P
DiITYEIISIO NG+ ++ ##+ ++ ##s vessrsaessrs aee bt aae bt eeetat eee bt see bt eee bt seeat aee it aee ot eee it aee et aee e
TIBEAR -+ -+ < v ++v +oe +om +omees ees ees en s e s e e e e s s e b
PANEl DESCIIPLION +#w +vs s ses so ers st ettt e et e e
e P PP P PP PSPPI
PrOAUCE COMEEMT++r e rrr o rrrrmeee s eee s e e et eeeee et e e et e e et e e tae se e ee e ee et eeeaae e e
a3
INSTALIAtION MELROU ++++++r+rrsrssreesremnnaeetrtiitaeste ettt e e e bt e e e bb et e e e bee it e e e eee s e eee e
PC S OFEWAI@- -+ ##+ s seessseesee ot eeeteeton s e ettt ee e e et e e e e e e e e et e e et e e ee e e e et e e et e
YO 1= [ L 06-
PC SOFtWAre DESCIIPLION: ++w++wssrssrssrssesses et ettt 13-
g
SAfEty INSEFUCTIONS e e sssseeessessei ettt
T P



R M S ESC-80NS A RIS M B, T EEBETNTRRERAER, BVE
it P AR A R

| EEAERNNECERRNEN, TETETEMREHRER

££400 6828 333 WIS £ HEREH ARSSRITE R,

W =R

@ SMRTBRASIMRIKN R TMEBINTAM
‘Q EERHTERR, RESE, AREAIUBANHERNESEARE,

@ 32{UDSPH A Ab I8, 48kHZR##Z, 24bit AD/DARRIR,

@ X8I IENE, 2B IR (AR T ERAFBERSHN), 2 Dantelt RN, 81
| P hIB T BUE R RIS A 25

‘. DantebLUSt#HMIMBR P A, iR EER. RERRXNESRERENSIEEBFEEN

|

\

|

|

\

|

|
WEZIGH. TIENEZ A%, ©4 & T CobraNet5EtherSoundIFrE S, NTEEDN

| mEEmES, SETRENRRETA.

@ HNEENIBE S EIERE]. WM. BE. B, EH/IRSE. EHETSME. |

@ LB EARNS AES. RS RIGH. 1. BE. B0 ER. EHEHEHE. |

© FAIBIEMPEQUE. R, MEEATR. RUIAE: SRIE. BREE. BRE
B, KE). B, 1ABE, 2MBE.

@ FEEY. RUNSRBNARTER: DISAS. HERF. NER, SEE-6db—- |

| 24dBmE[i%, |

O ENBEREININRE, HEERE, HiHiEE0ES RIESNOEE, LE, BE, |
15 S B,

@ 5 16 B BB b B B2 5 mSBTERY B

@ FIiEEDanteX W R4, EHEPCRLN B e I EMBMNFEIPHL, AEHT—RBRE |

| NEBRPNREEES. RE.

@30 P ARG, BHRSHE MM LRI, TAREBHRIE, #8
2ERS,

B EASH

SAEIMR: 110HZ-16kHzZ(-3dB)

FEES%: 98dB (1M/1W)

@ﬁﬁlﬂ%: 320W (AES)

BN 640W (AES)

wARSE: 0dB

EERA: 100V

BLFRIB: 24bitsigma-delta A/D. D/AFHE, 32bit DSP, 48kHZREEZE

‘ﬁ%: 13.7KG

N EMIRMERRRENIREE, HIREREEEN




_ESC-80A smmismst
W ERRTE (B mm)

1335mm

W IHEEMR

® Dantef@i\ © FEiH
@ EERT @ EEHEN
@ ESETIT BRI
@ IgEBRT @ BIREFx
GO ESHN/H i E




N EREE

| =t =] M6 R
R M6 8
s 4 MaX12 #8
| =ZEA M5X60 84

| %58 M6X12 t8 42
W REHE
1. BT RAR R B L,

M5X608% 2244

e

iy 372 NCN M4X12 88 2244

R H 2R L RI4R
4*12mmiR#z

M6 41

M6X 1248 2244




W PCHfF
‘?Ea_'\: FRRPCIE BRI 7= Sif BB PEBRETE M RIS &,

Dantei NP %!

INETIR “F—5" BITIRME, HIRERERY
B “mEC BH, BRI TEOEXALET
an:

|

\

2 BB ARLIEIERR, TS
B, FTHFDantel= BB, MEHERIP GEE: B

‘IPFI*&&E% BEI3RED)

\

|

BATFPCESING, AEREIPHILRS, BARE
—SlEIPHE, AEASE LAENR, EEE
LAEHRETRAE, HEF Online” , 359
RIS TSN AT, LRI TT LR R b
BIEHTIE, RENERAESS Online” 51,
BxARGREE O,




W PC2R{+35iEA
1). BEEHIR

FTAMRETUESE, URENIE D5 Bl SUE T2V 28
BANRLBETUERAS, REMATHFRESH

BNMH L BENFE S AT MEEH#ITEH

FAKISBEERSZE, UHRENENREER

TERSMIGER: WBIEIZ, MBRIEIZ (U01-21AFER) *D%E%T\iﬂ'l‘%

BERFFNEIAU0IBEL,

AIEEARRMIDRFHITZ K254 BN HIREXITH, LX&EH‘IQEID*DIPH@M%
| TR AT WIFI %) |
Teat tone BHEESAERS, AMHo4Rs, BREMREZEES
Priority select MNESMAERE: DANTERSL/ oseffise/xiF
2.5 X Al LUE RS R RN\ @B A PEQRI AR B E,

‘3 B Dantei@iE )ik, AIKILBERIRHEE, Dante WAL B RIEEFHITLHIE,
EEHIX: TLUAEFMERANRLBENEHESH, UWkEMNBENEMIMEHSSH.

‘5 i‘ﬁlﬂsﬁﬂﬂ: ARERENMERTIZSE, URETHAITIRSHITRS.
|

(2). @A IIRE
L BRI IR i, AR B B IE AT
2. B BFREWNBEMNRAISE: [IRE-90dB--0dB, BEHEE)1-999ms, R E BYiEl1-

\
\
\
\
\
\
\
\
‘3000ms, RIFEHEI10-999MSIE LR AT ¥
\
\
\
\
\
\




‘(3).132%3%%??@

1. ETREERSHEE, URFMABENRBTETITMERERSIT,

2. EREFERHBENERRSY: EAE-60dBE+20dB, EALELL. 1:10. LIMIT,
|  BohBiEI0-999ms, k& EiEI10-3000msrIiE, 3% m0%E+12dB,

\

\

\

\

\

(@) TR E
L. BN R EE B IER S SRR E,

2. LA AEE NER S, BEEER0-625ms, HHEBH. K. BTBRER.
\

\

\

\

\

\

\

\

\

\

\

\

@—

(5). ImHFRE

® 06 6
‘l.iﬁ%” Mag” RETLUAZFHBENSSEENSRIIMLE, EFEPhase RE A LUIAE Y
FEERAENI L. AR UAERY BRI enHEENS S 9E &AM L.
RS ENENEE. QE. ME. RETLURE, MUKNSRIEEER, PEQEIERSE:
|9 % BLR; EY); BY); ABMILSORE, AR{I360REIAE.
BENENIEE. QE. MEAUAEMRHITREE, LUAREN ETEGEHLRE
#ilo
ARTIRISTEE20HZ-20KHZ AT A EE, RZEATLIKEFE “Butterworth” BFEAHET, “Bessel” I
#E/R, “Linkwitz-Riley” Ta$t, SEER-6dBE|-24dBAIAE,
. BYIMIRE20HZ-20KHZ AT A%, RIEATLGERE “Butterworth” BA4XET, “Bessel” M |
Z/R, “Linkwitz-Riley” Ta$t, SEEIR-6dBE|-24dBAIIAE,
6. BB R, e, AR LURIIES, URBENEFERT,




E o
| mEREE. BR. EAL EH. B RERLURERT NS TSR A SHER R
%, (ERAER, BEADLHETU T |
L AR AR ERE S AT RYERENRENURADARSEBA )\, FEEBY=5H
WERASETREEER, URisheo S SR RE; |
ERREANESE (EE. BHE) , BUMKAEREACHRERREL, AR
ZERAE; |
EERRMEBIRBEEATRERG, PJEKAEREDE. RESNITE, ERTREEE
JOR. T k. TRERESE. 0. IREHANRERSBRIL, URRAFEIEE;
EESEEEETHEEARTR LN, EHERECHM, HIRECRERE SN QL ENE

fi; |
AT SN BUTEARONE, SEEERE L EASAEERAAN, LESHENE
0

ERBEFRBERAE, UHILHAASGE, 16ENRSBREHA L EEER




_ESC-80A ActivecolumnSpeaker — — — — — — — —
\

*‘I*Pr*efa?e* o
‘Dear Customer,

Thank you for purchasing TAKSTAR ESC-80A Active Column Speaker. Please read the user
‘manual carefully before use and keep it for reference in future.

If you have any questions or suggestions, please contact our local dealer.

M Features

/@ It is composed of eight 4-inch high-quality full-range driver units and all-aluminum

‘ housing.

@ Itis equipped with a special mounting bracket that is easy to install. The user can also

| adjust the coverage angle of the loudspeaker.

\@ It features 32-bit DSP chip, 48 kHz sampling rate, and 24-bit AD/DA converter.

\@ 2X8 core matrix, 2 analog conversions (balanced line input and high voltage signal input), |

| 2 Dante conversion inputs, and 8 analog outputs connect power amplifiers to speakers. |

@ With advanced network synchronization technology, Dante makes it possible to achieve
high-performance digital media networks with low latency, low jitter rate and high |

sampling accuracy that meet the demands for sound quality and performance needed in |
audio/visual equipment, broadcasting, and recording systems. It inherits all the ‘

° Input processing includes Noise gate, Gain, Mute, Phase, Compressor/Limiter, Link. |

advantages of CobraNet and EtherSound, such as uncompressed digital audio signals,
ensuring good sensitivity adjustment.

utput processing includes Crossover, , Gain, Mute, Phase, Delay, Link.
@0 ing includes C 6PEQ, Gain, M Ph Delay, Link
‘. The PEQ frequency, gain and bandwidth of all channels are adjustable with types of Peak, |

High-shelf, Low-shelf, Low cut, High cut, Allpass1, and Allpass2
‘. The types of high-cut and low-cut filters available are Butterworth, Linkwitz- Riley, and |
| Bessel with the slope of -6dB to - 24dB. \
‘. The threshold and time of input channels' noise gate are adjustable; the threshold, ratio, ‘

‘. It can be controlled by Dante's dual network interfaces. When connecting to the PC |
| software, it will automatically search for all IP addresses in the same network segment, |

time and soft knee of output channels' compressor/limiter are adjustable.
@ The maximal delay time for all delay modules of the output channel is 625ms.

‘ and then perform one-button connection to make the user's operation easier and faster. ‘
‘. There are totally 30 user presets. The state of the complete machine and each preset can |

| device securer.

be stored and called separately. It also has password protection function to make the




_ESC-80A ActivecolumnSpeaker — — — — — — — —
\

o ‘Iisp*eciTicaTiorTs o
‘Frequency Response: 110Hz-16kHz (-3dB)
SPL: 98dB (1M/1W)
Rated Power: 320W (AES)
[Peak Power: 640W (AES)
‘Input Sensitivity: 0dB
Constant Voltage Input: 100V
geinp
‘Digital Processing: 24-bit sigma-delta A/D, D/A converter, 32-bit DSP, 48 kHz sampling rate
Net Weight: 13.7KG
Note: The data is tested by Takstar Laboratory, and Takstar has the final interpretation right! ‘

@ Dimensions (unit: mm)

|
130mm

B Panel Description

1335mm

@ @ Dante Input
/ @ Power Indicator
® Signal Indicator
@ ® @ Peak Indicator
‘ \ %@ ® Signal Input/Output Socket
E— __® ® Volume Control
| @ Constant Voltage Input
— Power Input

(® Power Switch




_ESC-80A ActivecolumnSpeaker — — — — — — — —
\

- M Product Content
| Speaker 1pc M6 Spring Washer 1pc
User Manual 1pc M6 Plain Washer 1pc
Power Cord lpc M4X12 Screw 1pc

| BracketA 1pc M5X60 Screw 1pc

| BracketB 1PC

M Installation Method

1. Mount bracket A on the wall.
4 M5X60 screws

e

)
D) (T

‘2. Mount bracket B on the column speaker.

2 screw holes
facing upward 4 M4X12 screws

Remove the44*12mm screws
‘ onthe column speaker.

4 M6 plain washers

4 M6X12 screws “\

4 M6 spring washers




_ESC-80A ActivecolumnSpeaker — — — — — — — —
\

~ ® PCSoftware
‘Tips: The required PC control software and product manual are saved in the attached CD.

ISteps to connect the Dante interface:

pC network cable

equipment
Stepsto connectthe network cable

1. Click on and install the PC control software
that comes with the CD, and press "Next"
‘according to the default prompts until the
software is successfully installed and then click
"‘Finish" to exit. When the following window
lappears, close the control software window.

‘2. Connect the processor to the computer with a
Ihetwork cable, turn on the processor power,
open the Dante control software, and check the
machine IP (note: the computer IP should be set
to obtain automatically).

‘3. Open the PC control software, click the menu

‘checked at the last step, and then click the
lconnect button on the upper right corner. After

of setting an IP address, enter the IP address

lconnecting, the connect button on the upper
‘right corner will turn green and display "Online",
indicating that the software and the machine
‘have been connected successfully. At this time,
the processor can be operated through the
icontrol software. When exiting, click the "Online"
‘button first, and then close the software interface
window.




@—

@_

Open and save the preset parameters, upload the debugdata to the
‘computerand download the debug data to the machine.
Inputand output channels can be combined arbitrarily to adjust all

All parameters of input and output channels can be copied arbitrarily.
Used to setthe panellock password to ensure the safe use of the
‘machine.

default UO1 parameters each time the deviceisturned on.
Setting ID/IP Different IDs can be set for cascade control of up to 254 machines,

Working status The working status should be set as power off with memory, power
off without memory (U01-21 user mode), and power off without memory but with

and remote network control and wireless WIFI control can be performed by setting ID |
and IP address.

H’eattone With built-in signal generator, it can output pink noise, white noise ‘
land sine wave signal. |

‘Priority select Inputsignal can be prioritized: DANTE priority/ose priority/off. ‘

3. Analogand Dante channel switching enables channelresource sharing, and the input‘
land output of Dante can be processed through analog channels. |

2.Spectrum Area: You can arbitrarily check the PEQ curve and phase curve that show
heinputand outputchannels.

.Volume Control Area: You can adjust the gain parameters of allinput and output |
channels, aswell as the phase and mute parameters of each channel.

‘5. Preset Operation Area: Used to save and call preset parameters and display the status

bf current preset parameters.




_ESC-80A ActivecolumnSpeaker — — — — — — — —
\

o ‘ (27 Noise Gate Interface

2. The noise gate parameters of all input channels can be set as threshold value of -90dB--

1. Display the curve of the current noise gate status and the level indicator of the input
channels.

0dB, starting time of 1-999ms, recovery time of 1-3000ms, and continuously adjustable
g y y adj
‘retention time of 10-999ms.

‘(3). Compressor Interface

1. Display the curve of the compression status, as well as the level indicators and
lcompression status lights of all channels.

‘2. The compressor parameters of all output channels can be set as compression value of -
60dB to +20dB, compression ratio of 1:1, 1:10 and LIMIT, starting time of 0-999ms, adjustable
‘recovery time of 10-3000ms, and soft knee of 0 to +12dB.




_ESC-80A ActivecolumnSpeaker — — — — — — — —
\

‘(4TDeTay Interface
1. Visually display the delay parameter status of all channels.

‘2. The delay parameters of all channels can be adjusted to arange of 0-625ms, and
khere are switching displaysin milliseconds, meters, and inches.

@ —

® ®6 ®
|1. Select the "Mag" interface to adjust the PEQ, high-cut, and low-cut curves of the
output channel, and select the Phase interface to adjust the phase curve of the
currentchannel. And you can check the synchronous display to display the PEQ and
phase curves of the non-current channel synchronously. |

.The gain, Qvalue, frequency and type of all PEQ can be adjusted, and the bypass
button can be selected. PEQ typesinclude Balanced, Low-shelf, High-shelf, Low-cut, ‘
High-cut, 180°Phase and 360°Phase. |

.The gain, Qvalue, and frequency of the PEQ can be adjusted with the push rod, and
canalso be controlled with the up, down, left, and right arrows on the keyboard. |

. The low-cut frequency of 20HZ-20KHZ can be adjusted, and the slope can be selected|
from "Butterworth", "Bessel", "Linkwitz-Riley" in the adjustable range of -6dB to -
24dB.

.The high-cut frequency of 20HZ-20KHZ can be adjusted, and the slope can be
selected from "Butterworth", "Bessel", "Linkwitz-Riley" in the adjustable range of -
6dBto-24dB.

.The gain, mute and phase of the output channels can be controlled independently,

soasthelevelindicator of the channels.




_ESC-80A ActivecolumnSpeaker — — — — — — — —
\

- M Safety Instructions
| To avoid possible personal injury or property damage caused by electric shock, high
temperature, fire, radiation, explosion, mechanical hazards, and improper use, please read‘

and observe the following items before using the product.

. When using the product, please confirm whether the power of the connected devicej
matches the product power and adjust the device volume. Please do not use it for a long
time when the product power is exceeded or at a high volume to avoid product failure and‘

. If there is any abnormality (such as smoke, odor, etc.) during use, please turn off the power

hearing damage.

switch and unplug the power plug immediately, and then send the product to the dealer
for maintenance. |
. The product and accessories should be placed indoors in a dry and ventilated place. Do no
store them in a humid and dusty environment for a long time. Avoid getting close to the

ventilation holes during use, so as not to damage its function. \

fire, rain, water, excessive collision, throwing, vibrating the machine, and covering the

. If the product needs to be fixed on the wall or ceiling, please make sure to fix it in place to

it on occasions that are prohibited by laws and regulations to avoid accidents. ‘

prevent it from falling.
. When using the product, you must abide by the relevant safety regulations and do not use

. Please do not disassemble, refit, or repair the product by yourself to prevent personall
injury. If you have any questions or service needs, please contact the local dealer for‘
follow-up.




. ESC-80A®mmmmEmmE:

- W FRERsSFEE

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\

STH—HERHR YT LRI LWERY [ (Thfre €€E-8789-00v e EVHEEIHHTELE (¢

FE =] REUZ (S¥MZHH) EDZF
B & = £ B S eTE o]
ST TEEr (2

S S HH R =

° XIS EHS
Ba) BHEZUEH

I REELE T 9

B L

¥ ‘BRI FTHEELS

B S CEE 2
¥ WCANRIR Y

EHE B2 2 ¥ 205 7

"HES

‘EYEYH 4
U B o T & ¢

‘MEV—42H

XL SRS ¢

5t
FEF oy HE
B ‘SHERJH

2 TELH LER T

(UrEEF!




B—1, THEZ~R
Scan for more
product information

I"EERETIREREAARALZPD
IFESHERBRFAERLIAHIE
doht: TAREEMNTES AR EHEER—K2S
BRSS M4 4006828333 fEEL: 07526383950

HR%E: xs@takstar.com
WIE: www.takstar.com

Guangdong Takstar Electronic Co., Ltd.
Address: No. 2 Fu Kang YiRd., Longxi Boluo
Huizhou, Guangdong 516121 China

Tel: 86 752 6383644 Fax: 86 752 6383952
Email: sales@takstar.com

Website: www.takstar.com




